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unemployment, millions
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Answer all questions.

Fig. 1 shows the level of UK unemployment between 2008 and 2011.
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Fig. 1 — UK unemployment (millions), 2008-11

(a) Use the information in Fig. 1 to describe what happened to the level of unemployment between

(b)
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March 2008 and December 2011.

(i) Identify the two methods by which the UK government measures unemployment.
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(c) Explain two policies which the UK government could use to increase employment.
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(d)* Discuss whether unemployment is always a problem for an economy.
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BLANK PAGE

Question 2 begins on page 6
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Fig. 2 shows the UK Bank rate (also known as the base rate) as set by the Bank of England’s
Monetary Policy Committee. The Bank rate is shown for the period July 2007 to November 2012.

(a) Using the information in Fig. 2, calculate the difference in the UK Bank rate between May
2008 and November 2012. Show your working.

.............................................................................................................................................. [2]

(b) Other than the UK Bank rate, explain two factors which affect the rate of interest on loans.
=T (o ) i
= Vo3 (0] 2 USSP
[4]

©OCR 2014



©OCR 2014

¢l NON

21 100
¢l deg
2l bny

ckinp

(¢l unp

2L Repyy

¢} Jdy

¢l BN

¢l ged

¢l uer

11 98@

L AON
LL 190
L1 deg
L} Bny
LEINp
b unp

[ L1 Aepy

L1 ady

RN

L ged
L uer
0l 9ad

0l AON

01 190
0} des

(01 Bny

oL Ine

ol unp

01 Aey

0l Jdy

L

Ol ged

0} uer

60 92d

60 AON

60 190

60 dos

60 Bny

60 Inf

60 unpe
60 Aepy
60 Jdy

60 1B\

60 g°4

60 uer

80 %8d

80 AON

80 190
g0 des
80 bBny

80 Inf

go unp
80 Aepy
80 Jdy

80 1B\

80 go4

80 uer

£098d

/0 AON

/0 190
10 deg
,0 Bny

0 Inr

©

Vo]

q—
(%) e1el

™
yue

o
ayn

~—

o

month

Fig. 2 — UK Bank rate, 2007-12
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(c) (i) Would savers benefit from the trend shown in Fig. 2? Explain your answer.

(i) Explain why the trend shown in Fig. 2 could encourage spending in the economy.
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(d)* Does the UK economy benefit from a period of low interest rates? Give reasons for your
y
answer.
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Fig. 3 shows estimated UK government tax revenue for the year 2012—13.

council tax
£26bn

_‘/ VAT

income tax / £102bn
£155bn \

| excise duties
£48bn

national insurance / \

£106bn other taxes

=

business rates

corporation tax £56bn

£45bn
Fig. 3 — Estimated UK government tax revenue, 2012—-13 (total = £592bn)
(a) Using Fig. 3, identify:
* adirect tax

. an indirect tax.
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(b) (i)

(ii)
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Definitions of two taxes are given below. Identify the tax in Fig. 3 which matches each
definition.

e  Tax on company profits

e Tax on the purchase of goods and services

Estimated government spending in 2012—-13 was £683bn.

Using Fig. 3, calculate the estimated budget deficit for 2012—13. Show your working.

Turn over
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(c) Explain how the government could use progressive taxes and transfer payments to reduce
income inequalities in the UK.
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(d)* Discuss whether increases in taxes on tobacco products benefit the economy.

END OF QUESTION PAPER

©OCR 2014



14
ADDITIONAL ANSWER SPACE

If additional answer space is required, you should use the following lined page(s). The question
number(s) must be clearly shown in the margins.
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